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for the queStlons

1. Answer the followmg questlons in brief : 2X5=‘10
(@) Define correlation. -
(b) What do you mean by standard error ?

(c) Given M= 48, S p=8 for a distribution,
~convert a z score of the value 0.625 into g
raw score,
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@ What ,ié%?fgbodﬁéss'-éf-ﬁt ?

(e What dﬂ‘ you mean by p0s1t1ve and negatlve ‘

skewness ?

2. | Answer the- followmg questlons | ’5 x4_20

(@) Enumerate the major properties of Normal

| Probablhty Curye.

~ (b) Find out the comblﬂed SD of the- followmg
dastnbutwn |

M,=60 ad Mz 50
SD
=8 ad o~ 8
Size of the group
N,=20and N,=120°

(c) Mention the salient features of ehi-square
© test,

(d) What do you mean by coefficient of
correlation ? State its three ygeg,
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3. Answer any two of the following :  10x2=20

(a) Elucidate the applications of NPC in solving
dlﬂ‘erent problems _ ' 10

(b) Compute the correlation of the followmg two
tests by product. moment method and interpret
the result, 842510

[sax ‘1_9'-. 290 |24 | 24 116 |56} -
SetY[32 |24 |42 | 54 |42 |67]

vSetX,22:.‘ 32 | 18 24
SetY{s8 |57 |49 | 87

©) What is contmgenc)’ table ? The mothers of
. two hundred adolescents (some of them were
graduates and others non-graduates) were
asked whether they agreed or disagreed on

a certain - aspect. of adolescent behaviour.
Ascertain the fact that the attitudes of these
mothers-are related o their being graduates -

or non-graduates from the following data :-

2+8=10
| Mothers - | Agree Disagree
Graduatle'mothers' | 38 12
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4. Answer the .folloWing questions :

15x2=30

(a) Dis'tinguish between one-tailed apqd tvvo;
tailed tests. Two groups of 1¢ students each

scale: ,
|Sow T T9 [3[7 1713 615 f64
w98 1617 s[shilzle]s

80t the following scores on the atipude

' disouss the steps inve
. > . PS INVolyeq in th s nati
, ) e application
OfANQVA for testing ¢, diﬁ'eren:: l:,etweeﬂ
8roups for one way, 24+6+7=15

(b) In'a 'Study, the ,eﬁ.ectiveness of the method59

memorj tion was to be deteﬂnined For this

mz;f; sél fdo P8 of 19 students each
‘Were tali’m ecd. ' ﬁ'qm Class 7 of a school
a i 8oup was made t0

ado t a .. I
’ perticulat methog of memorization-
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Aametric test and

In the end, the perfofmance was tested"; The
number of nonsense syllables correctly recalled

by the students of these groups is presented
_ below : . ' ,

IGroupI ‘ 12 {10 |11 |

1 [8fwo]7]9T10]6

GroupIl | 14 | 8 |19 |15 |10[11]13[12{ 9 2

—

|Groupmr | 8 |11 {13 [917[5 }6]18] 7o

Appiy ANOVA for tesﬁng the. significance of the

difference between group Means and interpret the

-result. 15

Or

Explain the assumptions underlying ANCOVA and

_mention its uses and limitations.
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6+5+4=15
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